JS≣

Johannesburg Stock Exchange

One Exchange Square, Gwen Lane, Sandown, South Africa Private Bag X991174 Sandton 2146

Tel: +27 11 520 7000 Fax: +27 11 520 8584

www.jse.co.za

Registration number: 2005/022939/06 VAT number: 4080119391

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value	Trade Type	Buy/ Sell
8:00:45	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	687	687,000	13.8360		9,505,332.00 N	Member	Buy
8:02:55	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	330	330,000	13.8906		(4,583,898.00)	Member	Sell
9:03:22	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8318		138,318.00 M	Member	Buy
9:03:22	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8318		(138,318.00) (Client	Sell
9:15:07	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	30	30,000	13.8400		(415,200.00)	Member	Sell
9:23:41	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.8510		(1,385,100.00)	Member	Sell
9:23:41	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.8510		1,385,100.00	Client	Buy
9:27:01	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8480		(138,480.00) (Client	Sell
9:27:01	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8480		138,480.00 N	Member	Buy
9:31:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.8544		(6,788,656.00)	Member	Sell
9:31:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	490	490,000	13.8544		6,788,656.00 N	Member	Buy
9:31:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8544		(138,544.00)	Member	Sell
9:31:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.8544		138,544.00 N	Member	Buy
9:31:31	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.0844		7,042,200.00 M	Member	Buy
9:31:31	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.0844		(7,042,200.00)	Member	Sell
10:15:49	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.8800		41,640.00 M	Member	Buy
10:15:49	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.8800		(41,640.00) (Client	Sell
10:19:35	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	2,000	2,000,000	13.8830		27,766,000.00	Client	Buy

CURRENCY DERIVATIVES

CURRENCY FUTURES AND OPTIONS MATCHED TRADES

REPORT FOR 03/11/2015

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
			140	ITudeo	Value		Nominal	11100	Nuto	1360	
10:19:35	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.8830		(27,766,000.00) Member	Sell
10:20:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.8872		138,872.00 Member	Buy
10:20:34	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.8872		(138,872.00) Client	Sell
10:21:40	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8830		(69,415.00) Member	Sell
10:26:19	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	687	687,000	13.8360		(9,505,332.00) Client	Sell
10:26:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8920		(69,460.00) Member	Sell
10:26:30	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5	5,000	13.8920		69,460.00 Client	Buy
10:36:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	490	490,000	13.8663		(6,794,487.00) Member	Sell
10:36:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	490	490,000	13.8663		6,794,487.00 Member	Buy
10:36:21	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0959		(7,047,950.00) Member	Sell
10:36:21	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0959		7,047,950.00 Member	Buy
10:42:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0924		(7,046,200.00) Member	Sell
10:42:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.0924		7,046,200.00 Member	Buy
10:45:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	13.8680		20,802,000.00 Client	Buy
10:45:21	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,500	1,500,000	13.8680		(20,802,000.00) Member	Sell
10:47:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	761	761,000	13.8450		10,536,045.00 Member	Buy
10:47:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	761	761,000	13.8450		(10,536,045.00) Client	Sell
11:04:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.8900		(208,350.00) Client	Sell
11:04:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	15	15,000	13.8900		208,350.00 Member	Buy
11:05:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.8934		(138,934.00) Client	Sell
11:05:18	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.8934		138,934.00 Member	Buy
11:09:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9153		(139,153.00) Member	Sell
11:09:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9153		139,153.00 Member	Buy
11:15:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9160		139,160.00 Member	Buy
11:15:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9160		(139,160.00) Client	Sell
11:15:16	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.9038		(3,475,950.00) Member	Sell
11:15:16	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.8848		(34,712,000.00) Member	Sell
11:15:16	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,500	2,500,000	13.8848		34,712,000.00 Member	Buy
11:15:16	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	13.9038		3,475,950.00 Client	Buy
11:18:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.9210		(10,440,750.00) Member	Sell
11:18:09	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.9210		10,440,750.00 Client	Buy
11:18:19	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.3850		7,192,500.00 Member	Buy
11:18:19	\$ / R 13/06/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.3850		(7,192,500.00) Member	Sell
11:18:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.9300		1,393,000.00 Member	Buy
11:18:24	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	100	100,000	13.9300		(1,393,000.00) Client	Sell
11:18:55	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.9308		(27,861,600.00) Member	Sell
11:18:55	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,000	2,000,000	13.9308		(27,861,600.00) Member	Sell
11:20:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,727	1,727,000	13.9034		(24,011,171.80) Client	Sell
11:20:46	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1,727	1,727,000	13.9034		24,011,171.80 Member	Buy
11:26:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9211		(139,211.00) Client	Sell
11:26:41	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	10	10,000	13.9211		139,211.00 Member	Buy
11:30:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	54	54,000	13.9200		(751,680.00) Member	Sell
11:30:39	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	5,027	5,027,000	13.9200		(69,975,840.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:30:56	\$ / R 11/12/2015	Eoreign Exchange Euture	0.0) 1	1,000	2,000	2 000 000	13.9308		27,861,600.00 Client	Buy
11:30:56		Foreign Exchange Future					2,000,000				Buy
11:33:26	\$ / R 11/12/2015 \$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	2,000	2,000,000	13.9308		27,861,600.00 Client 556,812.00 Member	Buy
11:34:17		Foreign Exchange Future	0.0		1,000	40	40,000	13.9203		,	Buy
11:35:32	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	250	250,000	13.9198		3,479,950.00 Member	Buy
11:36:24	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	250	250,000	13.9098		(3,477,450.00) Client	Sell
11:36:24	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	25	25,000	13.8198		345,495.00 Member	Buy
11:42:22	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	1	1,000	13.9369		13,936.90 Client	Buy
11:42:22	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	1	1,000	13.9369		(13,936.90) Member	Sell
11:42:42	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	20	20,000	13.9359		(278,718.00) Member	Sell
11:42:42	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	20	20,000	13.9359		278,718.00 Client	Buy
11:43:22	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	100	100,000	13.9295		(1,392,950.00) Client	Sell
11:43:22	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	100	100,000	13.9295		1,392,950.00 Member	Buy
11:43:36	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	40	40,000	13.9346		(557,384.00) Member	Sell
11:43:36	\$ / R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	40	40,000	13.9346		557,384.00 Client	Buy
11:46:45	\$ / R 14/03/2016	Foreign Exchange Future	0.0	0 1	1,000	100	100,000	14.1735		(1,417,350.00) Member	Sell
11:46:54	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	164	164,000	13.9200		2,282,880.00 Client	Buy
11:46:54	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	135	135,000	13.9200		1,879,200.00 Client	Buy
11:46:54	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	4,782	4,782,000	13.9200		66,565,440.00 Client	Buy
11:48:19	\$ / R 14/03/2016	Foreign Exchange Future	0.0	0 1	1,000	100	100,000	14.1735		(1,417,350.00) Member	Sell
11:49:33	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	10	10,000	13.9442		(139,442.00) Member	Sell
11:49:33	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	10	10,000	13.9442		139,442.00 Client	Buy
11:50:41	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	210	210,000	13.9353		2,926,413.00 Member	Buy
11:50:41	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	210	210,000	13.9353		(2,926,413.00) Member	Sell
11:50:42	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	250	250,000	13.9331		3,483,275.00 Member	Buy
11:51:32	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	250	250,000	13.9231		(3,480,775.00) Client	Sell
11:51:32	\$ / R 11/12/2015	Foreign Exchange Future	0.0	D 1	1,000	250	250,000	13.9231		3,480,775.00 Member	Buy
11:53:48	\$ / R 13/06/2016	Foreign Exchange Future	0.0	0 1	1,000	500	500,000	14.3999		7,199,950.00 Member	Buy
11:53:48	\$ / R 13/06/2016	Foreign Exchange Future	0.0	0 1	1,000	500	500,000	14.3999		(7,199,950.00) Member	Sell
11:54:18	\$ / R 11/12/2015	Foreign Exchange Future	0.0	0 1	1,000	210	210,000	13.9457		2,928,597.00 Member	Buy
11:54:18	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	210	210,000	13.9457		(2,928,597.00) Member	Sell
12:00:10	\$ / R 14/03/2016	Foreign Exchange Future	0.0		1,000	50	50,000	14.1625		708,125.00 Member	Buy
12:00:10	\$ / R 14/03/2016	Foreign Exchange Future	0.0		1,000	50	50,000	14.1625		(708,125.00) Member	Sell
12:08:01	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	40	40,000	13.9203		(556,812.00) Client	Sell
12:25:47	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	90	90,000	13.9479		1,255,311.00 Member	Buy
12:25:47	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	90	90,000	13.9479		(1,255,311.00) Member	Sell
12:26:41	\$ / R 14/03/2016	Foreign Exchange Future	0.0		1,000	500	500,000	14.1861		(7,093,050.00) Member	Sell
12:26:41	\$ / R 14/03/2016	Foreign Exchange Future	0.0		1,000	500	500,000	14.1861		7,093,050.00 Member	Buy
12:28:24	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	90	90,000	13.9470		(1,255,230.00) Member	Sell
12:32:29	\$ / R 11/12/2015 \$ / R 11/12/2015		0.0				40,000	13.9470			
		Foreign Exchange Future			1,000	40				557,880.00 Client	Buy
12:32:37	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	50 10	50,000	13.9470		697,350.00 Client	Buy
12:55:08	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	10	10,000	13.9742		(139,742.00) Client	Sell
12:55:08	\$ / R 11/12/2015	Foreign Exchange Future	0.0		1,000	10	10,000	13.9742		139,742.00 Member	Buy
12:55:49	\$ / R 14/03/2016	Foreign Exchange Future	0.0	0 1	1,000	1,000	1,000,000	14.1753		(14,175,300.00) Member	Sell

Matched Fime	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
										.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,	
12:55:49	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	1,000	1,000,000	14.1753		14,175,300.00 Client	Buy
12:56:04	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.9705		349,262.50 Member	Buy
13:07:26	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.9512		348,780.00 Member	Buy
13:10:10	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	25	25,000	13.9512		(348,780.00) Client	Sell
13:32:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6651		7,332,550.00 Member	Buy
3:32:30	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6651		(7,332,550.00) Member	Sell
3:34:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9506		(6,975,300.00) Member	Sell
3:34:45	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9506		6,975,300.00 Member	Buy
3:38:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		7,335,350.00 Member	Buy
3:38:47	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		(7,335,350.00) Member	Sell
3:38:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		7,335,350.00 Member	Buy
3:38:49	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		(7,335,350.00) Member	Sell
3:38:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		7,335,350.00 Member	Buy
3:38:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		(7,335,350.00) Member	Sell
3:38:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		7,335,350.00 Member	Buy
3:38:54	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6707		(7,335,350.00) Member	Sell
3:53:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	230	230,000	13.9733		(3,213,859.00) Member	Sell
3:53:53	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	230	230,000	13.9733		3,213,859.00 Member	Buy
3:54:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6867		7,343,350.00 Member	Buy
3:54:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6867		(7,343,350.00) Member	Sell
3:55:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9695		6,984,750.00 Member	Buy
3:55:12	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9695		(6,984,750.00) Client	Sell
4:03:37	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	13.9837		(12,585,330.00) Member	Sell
1:03:49	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	900	900,000	13.9825		(12,584,250.00) Member	Sell
4:03:55	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	500	500,000	13.9827		(6,991,350.00) Member	Sell
4:04:07	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	13.9825		(2,237,200.00) Member	Sell
4:05:02	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	2,460	2,460,000	13.9930		(34,422,780.00) Member	Sell
4:08:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6882		7,344,100.00 Member	Buy
4:08:55	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6882		(7,344,100.00) Member	Sell
4:10:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	14.2062		10,654,650.00 Member	Buy
4:10:04	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	750	750,000	14.2062		(10,654,650.00) Member	Sell
4:13:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6806		7,340,300.00 Member	Buy
4:13:14	\$ / R 19/09/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.6806		(7,340,300.00) Member	Sell
4:19:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	410	410,000	14.1990		5,821,590.00 Member	Buy
1:19:16	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	410	410,000	14.1990		(5,821,590.00) Member	Sell
:34:03	\$ / R 25/11/2015	Any day expiry	0.00	1	1,000	61	61,000	13.9000		847,900.00 Member	Buy
:34:03	\$ / R 25/11/2015	Any day expiry	0.00	1	1,000	61	61,000	13.9000		(847,900.00) Client	Sell
1:43:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.9625		(10,471,875.00) Client	Sell
4:43:00	\$ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	750	750,000	13.9625		10,471,875.00 Member	Buy
4:45:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2096		7,104,800.00 Member	Buy
4:45:07	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	500	500,000	14.2096		(7,104,800.00) Member	Sell
4:45:33	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	14.2000		1,065,750.00 Member	Buy
4:45:33	\$ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	14.2100		(1,065,750.00) Client	Sell

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:47:10	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9746		6,987,300.00 Member	Buy
14:47:10	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9746		(6,987,300.00) Member	Sell
14:54:56	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9756		1,397,560.00 Member	Buy
15:01:24	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	1,000	13.9819		(13,981.90) Member	Sell
15:01:24	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	1	1,000	13.9819		13,981.90 Client	Buy
15:04:26	\$ / R 11/12/2015	Foreign Exchange Future	Р	12.00	1	1,000	602	602,000	2.5943		(1,561,768.60) Client	Sell
15:04:26	\$ / R 11/12/2015	Foreign Exchange Future	P	11.90	1	1,000	201	201,000	2.1195		(426,019.50) Client	Sell
15:04:26	\$ / R 11/12/2015	Foreign Exchange Future	C	14.84	1	1,000	201	201,000	83.2842		16,740,124.20 Client	Buy
15:04:26	\$ / R 11/12/2015	Foreign Exchange Future	c	14.84	1	1,000	877	877,000	83.2842		73,040,243.40 Client	Buy
			C		1		5					
15:17:19	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	5	5,000	14.2235		71,117.50 Member	Buy
15:17:19	\$ / R 14/03/2016	Foreign Exchange Future		0.00	-	1,000		5,000	14.2235		(71,117.50) Client	Sell
15:18:32	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.9883		(139,883.00) Client	Sell
15:18:32	\$ / R 11/12/2015	Foreign Exchange Future	_	0.00	1	1,000	10	10,000	13.9883		139,883.00 Member	Buy
15:20:54	\$ / R 11/12/2015	Foreign Exchange Future	Р	11.90	1	1,000	877	877,000	2.1195		(1,858,801.50) Client	Sell
15:21:25	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9964		1,399,640.00 Member	Buy
15:21:25	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9964		(1,399,640.00) Client	Sell
15:21:31	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.0000		56,000.00 Member	Buy
15:21:31	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	4	4,000	14.0000		(56,000.00) Client	Sell
15:21:32	\$ / R 11/12/2015	Foreign Exchange Future	Р	12.00	1	1,000	2,631	2,631,000	2.5943		(6,825,603.30) Client	Sell
15:23:38	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	260	260,000	14.0100		(3,642,600.00) Client	Sell
15:23:38	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	260	260,000	14.0100		3,642,600.00 Member	Buy
15:26:05	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.0133		700,665.00 Client	Buy
15:26:05	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.0133		(700,665.00) Member	Sell
15:26:20	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.0132		700,660.00 Client	Buy
15:26:20	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.0132		(700,660.00) Member	Sell
15:27:52	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0189		(140,189.00) Member	Sell
15:27:52	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0189		140,189.00 Client	Buy
15:40:51	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9983		(209,974.50) Member	Sell
15:40:51	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9983		209,974.50 Client	Buy
15:46:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.9974		41,992.20 Member	Buy
15:46:30	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3	3,000	13.9974		(41,992.20) Client	Sell
15:46:35	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.2310		(711,550.00) Client	Sell
15:46:35	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	50	50,000	14.2310		711,550.00 Member	Buy
15:47:51	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.0034		7,001,700.00 Member	Buy
15:47:51	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.0034		(7,001,700.00) Member	Sell
15:49:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	7	7,000	14.2320		99,624.00 Member	Buy
15:49:44	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	7	7,000	14.2320		(99,624.00) Client	Sell
15:49:53	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	2,460	2,460,000	13.9930		34,422,780.00 Client	Buy
15:58:03	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	2,400	10,000	13.9860		139,860.00 Member	Buy
16:00:29	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	13.9860		(139,860.00) Client	Sell
16:00:29 16:02:54	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	500	500,000	13.9800		6,992,450.00 Member	Buy
		Foreign Exchange Future			1		500		13.9849		(6,992,450.00) Member	Sell
16:02:54	\$ / R 11/12/2015	Foreign Exchange Future		0.00 0.00	1	1,000 1,000	500 500	500,000 500,000	13.9849 14.2170		(6,992,450.00) Member 7,108,500.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Put	Strike	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
16:02:54	\$ / R 14/03/2016	Foreign Exchange Future		0.00	1	1,000	500	500,000	14.2170		(7,108,500.00) Member	Sell
16:05:47	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9774		1,397,740.00 Client	Buy
16:05:47	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9774		(1,397,740.00) Member	Sell
16:08:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9847		209,770.50 Member	Buy
16:08:39	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	15	15,000	13.9847		(209,770.50) Client	Sell
16:09:40	\$ / R 11/12/2015	Foreign Exchange Future	Р	12.00	1	1,000	2,257	2,257,000	2.5943		5,855,335.10 Client	Buy
16:09:40	\$ / R 11/12/2015	Foreign Exchange Future	Р	12.00	1	1,000	976	976,000	2.5943		2,532,036.80 Client	Buy
16:12:58	\$ / R 11/12/2015	Foreign Exchange Future	Р	11.90	1	1,000	751	751,000	2.1195		1,591,744.50 Client	Buy
16:12:58	\$ / R 11/12/2015	Foreign Exchange Future	Р	11.90	1	1,000	327	327,000	2.1195		693,076.50 Client	Buy
16:15:55	\$ / R 11/12/2015	Foreign Exchange Future	С	14.84	1	1,000	325	325,000	83.2842		(27,067,365.00) Client	Sell
16:16:46	\$ / R 11/12/2015	Foreign Exchange Future	С	14.84	1	1,000	753	753,000	83.2842		(62,713,002.60) Client	Sell
16:18:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.9907		69,953.50 Member	Buy
16:18:09	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	5	5,000	13.9907		(69,953.50) Client	Sell
16:20:33	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0000		(140,000.00) Client	Sell
16:20:33	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	10	10,000	14.0000		140,000.00 Member	Buy
16:22:49	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	34	34,000	13.9937		475,785.80 Member	Buy
16:22:49	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	34	34,000	13.9937		(475,785.80) Client	Sell
16:49:33	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	14.0255		42,076,500.00 Client	Buy
16:49:33	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	3,000	3,000,000	14.0255		(42,076,500.00) Member	Sell
16:54:24	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.9665		279,330.00 Member	Buy
16:54:24	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	20	20,000	13.9665		(279,330.00) Member	Sell
17:02:17	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	100	100,000	13.9756		(1,397,560.00) Client	Sell
17:02:26	\$ / R 11/12/2015	Foreign Exchange Future		0.00	1	1,000	180	180,000	13.8822		2,498,796.00 Client	Buy
Total Futu	ires				101		43,783	43,782,500			614,707,766.35	
Total Opti					6		5,389	5,389,000			0.00	
•	6 / R Foreign Exchange	e Future			107		49,172	49,171,500			715,160,326.85	
							43,172	43,171,300			715,100,520.05	
9:03:27	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8307		6,915,350.00 Member	Buy
9:03:27	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8307		(6,915,350.00) Member	Sell
9:31:30	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8544		(6,927,200.00) Member	Sell
9:31:30	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8544		6,927,200.00 Member	Buy
9:31:31	\$ / R MAXI 14/03/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.0844		(7,042,200.00) Member	Sell
9:31:31	\$ / R MAXI 14/03/2016	Foreign Exchange Future		0.00	1	100,000	5	500,000	14.0844		7,042,200.00 Member	Buy
10:28:37	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8827		6,941,350.00 Member	Buy
10:28:37	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8827		(6,941,350.00) Member	Sell
	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8739		6,936,950.00 Member	Buy
10:28:55	\$ / R MAXI 11/12/2015	Foreign Exchange Future		0.00	1	100,000	5	500,000	13.8739		(6,936,950.00) Member	Sell
	ψ/ IX IMAXI 11/12/2013			0.00	1	100,000	7	700,000	14.0973		(9,868,110.00) Member	Sell
10:28:55	\$ / R MAXI 14/03/2016	Foreign Exchange Future		0.00	-							
10:28:55 10:36:21		8 8		0.00	1	100,000	7	700,000	14.0973		9,868,110.00 Member	Buy
10:28:55 10:28:55 10:36:21 10:36:21 10:36:21	\$ / R MAXI 14/03/2016	Foreign Exchange Future				100,000 100,000	7 5	700,000 500,000	14.0973 13.8653		9,868,110.00 Member 6,932,650.00 Member	Buy Buy
10:28:55 10:36:21 10:36:21	\$ / R MAXI 14/03/2016 \$ / R MAXI 14/03/2016	Foreign Exchange Future Foreign Exchange Future		0.00	1							

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
10:36:21	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.3254		(7,162,700.00) Member	Sell
10:57:48	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.8769		(6,938,450.00) Member	Sell
10:57:48	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.8769		6,938,450.00 Member	Buy
11:19:40	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.1555		9,908,850.00 Member	Buy
11:19:40	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.1555		(9,908,850.00) Member	Sell
11:40:58	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.9212		(12,529,080.00) Member	Sell
11:40:58	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.9212		12,529,080.00 Member	Buy
11:41:59	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9308		(6,965,400.00) Member	Sell
11:41:59	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9308		6,965,400.00 Member	Buy
11:43:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9325		(6,966,250.00) Member	Sell
11:43:39	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9325		6,966,250.00 Member	Buy
12:15:09	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9271		6,963,550.00 Member	Buy
12:15:09	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9271		(6,963,550.00) Member	Sell
12:15:09	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.3872		7,193,600.00 Member	Buy
12:15:09	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.3872		(7,193,600.00) Member	Sell
12:26:41	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.1861		(9,930,270.00) Member	Sell
12:26:41	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.1861		9,930,270.00 Member	Buy
12:43:07	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9477		(6,973,850.00) Member	Sell
12:43:07	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9477		6,973,850.00 Member	Buy
12:43:08	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.4024		7,201,200.00 Member	Buy
12:43:08	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.4024		(7,201,200.00) Member	Sell
12:56:12	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.9755		(1,397,550.00) Member	Sell
12:56:12	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	1	100,000	13.9755		1,397,550.00 Member	Buy
13:19:59	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6637		7,331,850.00 Member	Buy
13:19:59	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6637		(7,331,850.00) Member	Sell
13:19:59	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6636		7,331,800.00 Member	Buy
13:19:59	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6636		(7,331,800.00) Member	Sell
13:32:30	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6651		7,332,550.00 Member	Buy
13:32:30	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6651		(7,332,550.00) Member	Sell
13:34:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9506		(6,975,300.00) Member	Sell
13:34:45	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	5	500,000	13.9506		6,975,300.00 Member	Buy
14:10:04	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.2062		(9,944,340.00) Member	Sell
14:10:04	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00	1	100,000	7	700,000	14.2062		9,944,340.00 Member	Buy
14:10:04	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.9750		12,577,500.00 Member	Buy
14:10:04	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00	1	100,000	9	900,000	13.9750		(12,577,500.00) Member	Sell
14:13:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6807		(7,340,350.00) Member	Sell
14:13:21	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6807		7,340,350.00 Member	Buy
14:13:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00	1	100,000	5	500,000	14.6808		7,340,400.00 Member	Buy
14:13:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00		100,000	5	500,000	14.6808		(7,340,400.00) Member	Sell
14:14:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00		100,000	5	500,000	14.6787		7,339,350.00 Member	Buy
14:14:22	\$ / R MAXI 19/09/2016	Foreign Exchange Future	0.00		100,000	5	500,000	14.6787		(7,339,350.00) Member	Sell
14:42:02	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00		100,000	5	500,000	13.9635		(6,981,750.00) Member	Sell
14:42:02	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00		100,000	5	500,000	13.9635		6,981,750.00 Member	Buy

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
14:45:07	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.4392		7,219,600.00 Member	Buy
14:45:07	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.4392		(7,219,600.00) Member	Sell
14:45:30	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.4417		7,220,850.00 Member	Buy
14:45:30	\$ / R MAXI 13/06/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.4417		(7,220,850.00) Member	Sell
14:56:05	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9806		(6,990,300.00) Member	Sell
14:56:05	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9806		6,990,300.00 Member	Buy
15:28:23	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	4	400,000	14.0220		5,608,800.00 Member	Buy
15:28:23	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	4	400,000	14.0220		(5,608,800.00) Member	Sell
15:40:09	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9953		6,997,650.00 Member	Buy
15:40:09	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9953		(6,997,650.00) Member	Sell
16:02:54	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.2170		7,108,500.00 Member	Buy
16:02:54	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00) 1	100,000	5	500,000	14.2170		(7,108,500.00) Member	Sell
16:03:30	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00) 1	100,000	10	1,000,000	14.2102		14,210,200.00 Member	Buy
16:03:30	\$ / R MAXI 14/03/2016	Foreign Exchange Future	0.00) 1	100,000	10	1,000,000	14.2102		(14,210,200.00) Member	Sell
16:42:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9710		6,985,500.00 Member	Buy
16:42:40	\$ / R MAXI 11/12/2015	Foreign Exchange Future	0.00) 1	100,000	5	500,000	13.9710		(6,985,500.00) Member	Sell
Fotal Futu	ires			37		201	20,100,000			284,531,150.00	
Total Opti	ons										
Total for \$	/ R MAXI Foreign Exch	ange Future		37		201	20,100,000			284,531,150.00	
8:02:03	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	539	539,000	21.3457		(11,505,332.30) Member	Sell
9:11:57	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.3800		(1,069,000.00) Member	Sell
9:11:57	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.3800		1,069,000.00 Client	Buy
9:24:18	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.3792		(1,068,960.00) Member	Sell
9:24:18	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.3792		1,068,960.00 Client	Buy
9:31:31	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	200	200,000	21.3777		(4,275,540.00) Member	Sell
9:31:31	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	200	200,000	21.3777		4,275,540.00 Member	Buy
9:34:06	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	200	200,000	21.3881		(4,277,620.00) Member	Sell
9:34:06	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	200	200,000	21.3881		4,277,620.00 Member	Buy
10:26:08	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	539	539,000	21.3457		11,505,332.30 Client	Buy
11:41:45	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	1	1,000	21.4507		21,450.70 Client	Buy
11:41:45	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	1	1,000	21.4507		(21,450.70) Member	Sell
11:48:46	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.4800		(1,074,000.00) Client	Sell
11:48:46	£/R 11/12/2015	Foreign Exchange Future	0.00) 1	1,000	50	50,000	21.4800		1,074,000.00 Member	Buy
2:15:10	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	200	200,000	21.4642		(4,292,840.00) Member	Sell
2:15:10	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	200	200,000	21.4642		4,292,840.00 Member	Buy
2:15:33	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	200	200,000	21.4744		4,294,880.00 Member	Buy
12:15:33	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	200	200,000	21.4744		(4,294,880.00) Member	Sell
12:31:53	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	21.5100		1,075,500.00 Member	Buy
	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	50	50,000	21.5100		(1,075,500.00) Client	Sell
12:31:53											- •
12:31:53 12:55:41	£/R 11/12/2015	Foreign Exchange Future	0.00		1,000	150	150,000	21.5280		(3,229,200.00) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
13:11:22	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.5095		(1,075,475.00) Member	Sell
13:11:22	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.5095		1,075,475.00 Client	Buy
13:47:48	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.5058		1,075,290.00 Member	Buy
13:47:48	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.5058		(1,075,290.00) Client	Sell
14:17:26	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.4800		1,074,000.00 Client	Buy
14:17:26	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	50	50,000	21.4800		(1,074,000.00) Member	Sell
15:04:20	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	21.5177		(21,517.70) Member	Sell
15:04:20	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	21.5177		21,517.70 Client	Buy
15:04:27	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.8106		218,106.00 Client	Buy
15:04:27	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	10	10,000	21.8106		(218,106.00) Member	Sell
15:04:27	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	39	39,000	21.8106		850,613.40 Client	Buy
15:04:27	£/R14/03/2016	Foreign Exchange Future	0.00	1	1,000	39	39,000	21.8106		(850,613.40) Member	Sell
15:36:54	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	33	33,000	21.8106		719,749.80 Member	Buy
15:37:04	£ / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	33	33,000	21.8106		(719,749.80) Client	Sell
15:37:18	£ / R 14/03/2016	Foreign Exchange Future	0.00	-	1,000	16	16,000	21.8106		348,969.60 Member	Buy
15:37:33	£/R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	16	16,000	21.8106		(348,969.60) Client	Sell
15:47:50	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5124		4,302,480.00 Member	Buy
15:47:50	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5124		(4,302,480.00) Member	Sell
15:48:16	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5086		(4,301,720.00) Member	Sell
15:48:16	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5086		4,301,720.00 Member	Buy
15:58:20	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	249	249,000	21.5046		(5,354,645.40) Member	Sell
15:58:20	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	249	249,000	21.5046		5,354,645.40 Member	Buy
16:20:33	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5314		(4,306,280.00) Member	Sell
16:20:33	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5314		4,306,280.00 Member	Buy
16:26:15	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5118		4,302,360.00 Member	Buy
16:26:15	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	200	200,000	21.5118		(4,302,360.00) Member	Sell
16:58:18	£/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	21.4422		(1,002,000.00) Member (64,326.60) Client	Sell
16:58:18	£ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	21.4422		64,326.60 Member	Buy
		r oreign Exchange r uture	0.00	·	1,000			21.7722			Duy
Total Futu				25		2,991	2,991,000			64,199,856.50	
Total Opti	ons ∶ / R Foreign Exchang			25		2,991	2,991,000			64,199,856.50	
				2 J		2,331				04,133,030.30	
9:04:03	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.2696		(15,269.60) Member	Sell
9:04:03	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.2696		15,269.60 Client	Buy
9:57:11	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	41	41,000	15.3232		(628,251.20) Client	Sell
9:57:11	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	41	41,000	15.3232		628,251.20 Member	Buy
10:28:37	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2907		(3,822,675.00) Member	Sell
10:28:37	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2907		3,822,675.00 Member	Buy
10:29:17	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2805		(3,820,125.00) Member	Sell
10:29:17	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.2805		3,820,125.00 Member	Buy
10:54:52	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.2567		15,256.70 Client	Buy
10:54:52	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.2567		(15,256.70) Member	Sell

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
11:41:38	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3149		(15,314.90) Member	Sell
11:41:38	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3149		15,314.90 Client	Buy
12:36:32	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3259		3,831,475.00 Member	Buy
12:36:32	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3259		(3,831,475.00) Member	Sell
12:45:53	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3254		(3,831,350.00) Member	Sell
12:45:53	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3254		3,831,350.00 Member	Buy
14:33:55	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3427		(15,342.70) Member	Sell
14:33:55	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3427		15,342.70 Client	Buy
14:43:57	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	15.3468		(2,455,488.00) Member	Sell
14:44:46	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	15.3568		(2,457,088.00) Member	Sell
14:44:46	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	160	160,000	15.3568		2,457,088.00 Client	Buy
15:01:31	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3617		(15,361.70) Member	Sell
15:01:31	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	1	1,000	15.3617		15,361.70 Client	Buy
15:42:47	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3438		3,835,950.00 Member	Buy
15:42:47	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3438		(3,835,950.00) Member	Sell
15:42:59	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3402		(3,835,050.00) Member	Sell
15:42:59	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	250	250,000	15.3402		3,835,050.00 Member	Buy
15:43:55	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	88	88,000	15.3492		1,350,729.60 Member	Buy
15:43:55	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	88	88,000	15.3492		(1,350,729.60) Member	Sell
16:59:00	€ / R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.2783		45,834.90 Member	Buy
16:59:00	€/R 11/12/2015	Foreign Exchange Future	0.00	1	1,000	3	3,000	15.2783		(45,834.90) Client	Sell
Fotal Futu	ires			16		1,877	1,877,000			28,762,818.30	
Total Opti	ons										
Total for €	Z / R Foreign Exchang	e Future		16		1,877	1,877,000			28,762,818.30	
16:38:48	NZ\$ / R 20/11/2015	Any day expiry	0.00	1	1,000	8,000	8,000,000	9.2913		74,330,400.00 Client	Buy
16:38:48	NZ\$ / R 20/11/2015	Any day expiry	0.00	1	1,000	8,000	8,000,000	9.2913		(74,330,400.00) Member	Sell
Total Futu	ires			1		8,000	8,000,000			74,330,400.00	
Total Opti	ons										
Total for N	IZ\$ / R Any day expiry	/		1		8,000	8,000,000			74,330,400.00	
10:14:29	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	354	354,000	10.0570		(3,560,178.00) Member	Sell
15:04:27	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.0778		(201,556.00) Client	Sell
15:04:27	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.0778		755,835.00 Member	Buy
15:19:55	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	32	32,000	10.0778		322,489.60 Member	Buy
15:39:38	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.0778		(755,835.00) Member	Sell
15:40:13	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	20	20,000	10.0778		201,556.00 Member	Buy
5:40:49	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.0778		755,835.00 Client	Buy
5:40:49	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	75	75,000	10.0778		(755,835.00) Member	Sell
	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	87	87,000	10.0778		(876,768.60) Client	Sell
15:42:46											

Matched Time	Contract Details	Product	Call/ Strike Put	No of Trades	Nominal Underlying Value	Quantity	Foreign Nominal	Traded Price	Spot Rate	Premium Value Trade Type	Buy/ Sell
17 50 00			0.00		4.000	0.4		10.0570			0.11
17:59:28	SGD / R 14/03/2016	Foreign Exchange Future	0.00		1,000	34	34,000	10.0570		(341,938.00) Member	Sell
17:59:57	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	65	65,000	10.0570		653,705.00 Client	Buy
17:59:57	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	152	152,000	10.0570		1,528,664.00 Client	Buy
17:59:57	SGD / R 14/03/2016	Foreign Exchange Future	0.00	1	1,000	103	103,000	10.0570		1,035,871.00 Client	Buy
Total Futu	res			7		600	599,500			6,034,277.90	
Total Option	ons										
Total for S	GD / R Foreign Excha	nge Future		7		600	599,500			6,034,277.90	
Total Futu	res			186		57,451	77,350,000			1,072,566,269.05	
Total Option	ons			6		5,389	5,389,000			0.00	
Grand To	tal for all Instrumer	nts		192		62,840	82,739,000			1,173,018,829.55	